Whitman College 
Econ 358 
Exam 3 
April 18, 1996 



Write all answers in your blue book. Show all of your work. 



Suppose that the Capital Asset Pricing Model (CAPM) assumptions hold. Use the following information to answer all of the questions on the exam. 

The standard deviation of the market portfolio (M) is 0.20. 
The standard deviation of Security A is 0.30. 
The standard deviation of Security B is 0.15. 
The covariance of Security A with B is 0.015. 
The covariance of Security A with M is 0.050. 
The covariance of Security B with M is 0.020. 
The average risk-free rate over the past 70 years has been 0.032. 
The average return on M over the past 70 years has been 0.102 
The current risk-free rate is 0.030. 





1. (10pts) Using the average historical risk premium, calculate the expected return on M. 



2. (a) (10pts) Find the standard deviation of a portfolio composed of 80% Security A and 20% Security B. 

(b) (25pts) Find the expected return of the portfolio from part (a). 

(c) (15pts) Is there a diversification effect operating when you put Securities A and B together? Explain your reasoning. 



3. (20pts) Assume other risky securities exist, besides Securities A and B. Graph the Capital Market Line (CML). Indicate where Security A and Security B are on your graph. 



4. (20pts) Graph the Security Market Line (SML). Indicate where Security A and Security B are on your graph.
